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QUESTION 1

A customer will use the vRealize Automation platform for production and development deployments to the same
vSphere cluster. One of their vSphere templates will only be licensed for use in development and must not be used for
production. 

The customer has defined a tag category called "environment" with three possible values "development", "test" and
"production" to differentiate the environments. 

Which two design decisions will ensure that the requirements are met? (Choose two.) 

A. Define a tag of "environment:development" on the Cloud Zone 

B. Define a tag of "!environment:production" on the licensed image mapping 

C. Define a tag of "environment:development" on the licensed image mapping 

D. Define a tag of "environment:development" in all development Cloud Templates 

E. Define a tag of "environment:production" on the Cloud Zone 

Correct Answer: DE 

 

QUESTION 2

Which recommendation should an architect make when designing a highly available vRealize Operation (vROps)
cluster? 

A. Deploy analytics nodes with the same disk size on storage of the same type. 

B. Depending on the size and performance requirements for analytics nodes, apply Storage DRS Affinity rules to ensure
that nodes are on same datastores. 

C. If the sizing guideline provides several configurations for the same number of objects, use the configuration which
has the greatest number of nodes. 

D. Set Storage DRS to Fully Automated for all vRealize Operations Manager analytics nodes. 

Correct Answer: A 

 

QUESTION 3

What are the two valid characteristics of vRealize Automation Cloud? (Choose two.) 

A. Supports on-premises vSphere and vRealize Orchestrator 

B. Requires a standard license 

C. Requires a load balancer 

D. Supports on-premises vRealize Operations Manager 
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E. Has a frequent release cycle 

Correct Answer: CD 

 

QUESTION 4

A cloud architect is planning to scale out the small deployment of vRealize Automation to address high availability
requirements. 

When creating an implementation plan, which prerequisite should be documented? 

Note: FQDN: Fully qualified domain name VIP: Virtual IP address 

A. Request certificate containing VIP FQDN for each Organization for VMware Identity Manager VIP 

B. Request Certificate Authority (CA)-signed certificate containing the VIP FQDN and the FQDN of the VMware Identity
Manager nodes 

C. Request Certificate Authority (CA)-signed certificate containing the VIP FQDN and the FQDN of all the cluster nodes 

D. Request certificate containing VIP FQDN for each Organization for vRealize Automation VIP 

Correct Answer: C 

 

QUESTION 5

An architect is designing the deployment of vRealize Log Insight (vRLI) in their data center. The customer has the
following requirements: 

vRLI cluster responds to multiple Virtual IP Addresses (VIPs) Each event message received from a VIP is associated
with a tag 

Which two design decisions would the architect make to achieve the requirements? (Choose two.) 

A. Configure a CSV file to use with VIP tags. 

B. Configure a list of static tags (key=value) for an integrated load balancer VIP, so that each event message received
from a VIP is annotated with a tag. 

C. Each node should have at least one network interface on the same subnet as that of a VIP. 

D. Configure a list of dynamic tags (key=value) for an integrated load balancer VIP, so that each event message
received from a VIP is annotated with a tag. 

E. Each node should have at least one network interface on a different subnet as that of a VIP. 

Correct Answer: BC 
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